
©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 1291341-0007  REVF 09/09/2024

Some installation tasks listed in 
this document are found in other 

documents. 
Please refer to the appropriate 

document(s) as directed; 
Expansion Anchor Requirement 

500460-0001 found on  
www.Wayne-Dalton.com

41510.00119 Operator Installation 
Instructions (Included)

This installation manual provides 
the trained door technician 

information required to install this 
door.

READ COMPLETE INSTRUCTIONS 
BEFORE INSTALLING DOOR.

This manual is intended ONLY 
for professional use by a trained 

door systems technician. All others 
please refer to the end user manual 

provided to you.

INSTALLATION INSTRUCTIONS 
MODEL DS-350 ROLL-UP DOORS, WINDLOAD RATED, 

WITH SIDE MOUNT OPERATOR

Product may be covered by one or more patents.
See www.wayne-dalton.com/patents for details.



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 2291341-0007  REVF 09/09/2024

TABLE OF CONTENTS
SECTION CONTENTS PAGES

1 SAFETY INFORMATION 3
2 DOOR INSTALLATION DATA SHEET 4
3 PRE-INSTALLATION CHECK LIST 5-6
4 DOOR INSTALLATION 7-17

WARRANTY 18



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 3291341-0007  REVF 09/09/2024

DEFINITION OF KEY WORDS USED IN THIS MANUAL:

Potential Hazard Effect Prevention

MOVING DOOR

COULD RESULT 
IN DEATH OR 

SERIOUS INJURY 

Keep people clear of opening while Door is moving.

Do NOT allow children to play with the Door Operator.

Do NOT operate a Door that jams or one that has a broken spring.

ELECTRICAL SHOCK

COULD RESULT 
IN DEATH OR 

SERIOUS INJURY 

Turn OFF electrical power before wiring switch and door operator to supply. 

HIGH SPRING TENSION

COULD RESULT 
IN DEATH OR 

SERIOUS INJURY 

Do NOT try to remove, install, repair or adjust springs or anything to which door spring parts are fastened, such as, 
wood blocks, steel brackets, cables or other like items.

Installations, repairs and adjustments must be done by a trained door system technician using proper tools and 
instructions.

SECTION 1 - SAFETY INFORMATION

ROLLING DOORS ARE LARGE, HEAVY OBJECTS THAT MOVE WITH THE HELP OF ELECTRIC MOTORS.  SINCE MOVING OBJECTS 
AND ELECTRIC MOTORS CAN CAUSE INJURIES, YOUR SAFETY AND THE SAFETY OF OTHERS DEPENDS ON YOU READING THE 
INFORMATION IN THIS MANUAL.  IF YOU HAVE ANY QUESTIONS OR DO NOT UNDERSTAND THE INFORMATION PRESENTED, YOU 
SHOULD CONSULT A LICENSED PROFESSIONAL OR CALL TECHNICAL SUPPORT AT 1-800-764-1457.

WARNING
IMPORTANT SAFETY INSTRUCTIONS

  WARNING

  DANGER INDICATES A HAZARDOUS SITUATION THAT, IF NOT AVOIDED, WILL RESULT IN DEATH OR SERIOUS INJURY.
INDICATES A HAZARDOUS SITUATION THAT, IF NOT AVOIDED, COULD RESULT IN DEATH OR SERIOUS INJURY.
INDICATES A HAZARDOUS SITUATION THAT, IF NOT AVOIDED, COULD RESULT IN MINOR OR MODERATE INJURY.

INDICATES INFORMATION CONSIDERED IMPORTANT, THAT IT IS NOT RELATED TO INJURY, BUT MAY RESULT IN PROPERTY DAMAGE.

IMPORTANT: Required key step for proper door operation.

NOTE: Information only.

  CAUTION

  WARNING

  WARNING

  WARNING

  NOTICE



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 4291341-0007  REVF 09/09/2024

A sample of the “DOOR INSTALLATION DATA” sheet is shown here. Locate the work
order “Door Installation Data” sheet inside the door hardware box. You will need to

refer to the “Door Installation Data” sheet. See FIG 2.
Factory order number on door components must match with factory order number

on the “Door Installation Data” sheet. Each door has it’s own individual sheet.

FIG 2

S
A

M
P

L
E

SECTION 2 - DOOR INSTALLATION DATA SHEET



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 5291341-0007  REVF 09/09/2024

Verify that the door installation can be accomplished before 
proceeding:
   • Locate the work order “DOOR INSTALLATION DATA” sheet, see FIG 2, 
inside the door hardware box.
   • Does the wall opening shown in FIG 3 and FIG 4 match the Opening  
     Width and Height shown on the “Door Installation Data” sheet?
   • Are the guides you received suitable for the jambs? Compare the     
     guides type shown in FIG 5 with the “Door Installation Data” sheet.
   • Can the guides be installed plumb?
   • Check the sill for level.       
     If sill is not level, mark  
     the high sill location  
     on the low side jamb.
   • Guides are designed  
     to rest on sill. 
   • Consult the factory if  
     the actual opening  
     width is greater than  
     shown on the packing  
     slip more than  
     2 inches.

SECTION 3 - PRE-INSTALLATION CHECK LIST

Header

Opening
Height

Jamb

Sill

Opening Width

FIG 3

OPERATION
DIMENSION

OPENING HEIGHT
DIMENSION

A B C
PUSH UP 6” UP TO 8’0” HEIGHT 20” 10”

DIRECT DRIVE CHAIN 
/ MOTOR 9” FROM 8’0” TO 10’0” 

HEIGHT 22” 11”

REDUCED DRIVE 
CHAIN 8” OVER 10’0” HEIGHT 24” 12”

NOTE: DIMENSION TABLES - MINIMUM OVERHEAD CLEARANCE (B) INDICATED

FIG 4

6”

OPENING 
WIDTH

DIMENSION
BL 

(STEEL)
BL 

(MASONRY)
ANGLE FACE TO 

ANGLE FACE
UP TO 10’0” 

WIDE 1-9/16” 4-15/16” OPENING WIDTH 
+ 6-11/16”

OVER 10’0” 
WIDE 1-7/16” 4-7/8” OPENING WIDTH 

+ 6-7/16”

FIG 5



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 6291341-0007  REVF 09/09/2024

Read the installation instructions thoroughly to become familiar with the names of the various components and their relation to each other. It is necessary for the installer to 
determine the following:
   • Type of jamb material (wood, masonry, or steel) on which the door guides will be mounted.
   • The dimensions for the opening width, opening height, headroom, and side room.

TOOLS
Commonly used tools for proper installation are:
   • Electric drill with 3/8” or 1/2” chuck with nut driver and drill bits.
   • Masonry drill or impact hammer and bits.
   • Ladders and/or scaffolding.
   • Hammer and pliers.
   • Center punch and Screwdrivers.
   • Wrenches, vise grips, and C-clamps.
   • Tape measure and a water level.

UNPACKING DOORS
Before removing the door from any packaging, 
inspect the packaging for visible signs of damage. If 
damage is noted, file a freight claim with the freight
company immediately. Remove the door from the 
packaging.

FASTENER TABLE
Jamb Condition Bracket Fasteners Guide Fasteners

Wood 5/16” x 1-1/2” Lag Screw 5/16” x 1-1/2” Lag Screw
Masonry 5/16” x 1-1/2”  Wedge Anchor 1/4” x 1-3/4”  Tapcon

Steel 1/4” x 3/4” Self Drilling Screw 1/4” x 3/4” Self Drilling Screw

SECTION 3 - PRE-INSTALLATION CHECK LIST

FIG 6

WARNING
DO NOT CUT TAPE THAT HOLDS 
DOOR IN A ROLL UNTIL INSTRUCTED 
TO DO SO.

NOTE: Right and Left Hand is determined by facing 
the door opening, on the coil side.



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 7291341-0007  REVF 09/09/2024

   • Obtain the appropriate Bolt Line (BL) measurement from FIG 3 on page 6. Use Opening Width listed on packing slip. Any variation between the actual opening width and  
     the width listed on the  “DOOR INSTALLATION DATA” sheet is to be ignored.

   • Using the BL measurement, loosely clamp the right hand wall angle to the right hand jamb. Position the wall angle such that the BL measurement falls near the center of  
     the slots. Adjust the wall angle so that it is level and tighten the clamp. Install wall angle fasteners in the centers of the top and bottom slots only and tighten.
   • Select the appropriate Angle Face to Angle Face equation from the chart above. Add the opening width listed on the packing slip to obtain the Angle Face to Angle Face  
     measurement from FIG 3 on page 6. Use this measurement to locate the left hand wall angle on the left hand jamb and clamp in place. Install the top and bottom bolts in  
     the wall angle. Verify that both wall angles are level and double check the angle to angle measurement at the top, middle, and bottom to ensure that the wall angles are  
     properly located. Using a string and a level, ensure that the mounting angles are parallel to each other, shimming if necessary, to achieve both vertical and horizontal  
     leveling. Now install the remaining bolts in both wall angles.

   • Align the guide slots with the slots in the wall angles and fasten guides with the interior windlock return towards the door jamb using the 5/16” - 18 x 5/8” truss head bolts,  
     5/16” washers, and 5/16” - 18 flange hex nuts. Slide guides to set the “H” dimension as shown on page 6 at 1-3/4” prior to tightening the guide fasteners.

STEP 1STEP 1 INSTALL CURTAIN GUIDES TO JAMB

SECTION 4 - DOOR INSTALLATION

FIG 7

IMPORTANT: Use BL measurement to locate wall mounting angle for one jamb only. Second angle will be located using Angle Face to Angle Face measurement.

IMPORTANT: Angle Face to Angle Face measurement must be held to ensure proper door operation and resistance to windload.
IMPORTANT: Use of any other fasteners than those provided must be approved by manufacturer or building authority and cannot be of lesser diameter or grade.

IMPORTANT: Ensure guide is oriented properly on the mounting angle as seen in the above picture or door will bind in guides.



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 8291341-0007  REVF 09/09/2024

   • Install the bottom bar stops with the same 5/16” - 18 x 5/8” truss head bolts and 5/16” - 18  flange nuts used to assemble the guides. Leave the fasteners loose to allow  
     the bottom bar stops to pivot out of the way of the bottom bar angle when the curtain will be pulled into the guides. You will be instructed to tighten the bottom bar stop  
     fasteners in step #8.

STEP 2STEP 2 INSTALL BOTTOM BAR STOPS

SECTION 4 - DOOR INSTALLATION

FIG 8



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 9291341-0007  REVF 09/09/2024

From the Dimension Tables in FIG 4, mark the width location of each bracket by using dimension A for the operator side and 5” for the non-operator side. If the actual opening 
width varies from the packing slip width, adjust these dimensions by adding or subtracting 1/2” of the difference to each dimension. Subtract if the opening is larger and add 
if smaller. Mark the height location of the brackets by using dimension C. Verify the ceiling clearance minimum from dimension B. Use a string and a level to verify that the 
brackets are level with each other. Adjust bracket height as needed to level. Drill anchor holes and fasten the brackets with the anchors provided.

If the door is to be chain hoist or motor operated, install the components shown below to the operator side of the curtain at this time. Do not tighten set screws at this time, 
you will be instructed to tighten these in step #8.

STEP 3STEP 3 INSTALL BRACKETS

SECTION 4 - DOOR INSTALLATION

KEEP LOOSE CLOTHING, FINGERS, HANDS AND ARMS AWAY FROM ALL MOVING MECHANISMS, OR SERIOUS INJURY OR DEATH 
COULD RESULT.

WARNING

IMPORTANT: BRACKETS MUST BE LEVEL TO EACH OTHER WITH RESPECT TO HEIGHT. FAILURE TO LEVEL BRACKET HEIGHTS WILL PREVENT DOOR FROM OPERATING 
PROPERLY.

OPENING 
WIDTH

DIMENSION
BL 

(STEEL)
BL 

(MASONRY)
ANGLE FACE TO 

ANGLE FACE
UP TO 
10’0” 
WIDE

1-9/16” 4-15/16” OPENING WIDTH + 
6-11/16”

OVER 
10’0” 
WIDE

1-7/16” 4-7/8” OPENING WIDTH + 
6-7/16”

FIG 9



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 10291341-0007  REVF 09/09/2024

FIG 10A FIG 10B

   • There are four operation options.
	 -  Motor operator drive sprocket(40t #41 sprocket), see FIG 10A, FIG 10B, and FIG 10C.
	 -  Direct drive chain hoist, see FIG 10D.
	 -  Motor operator drive sprocket (72t #41 sprocket), see FIG 10E.
	 -  Reduced chain hoist, see FIG 10F.
   • Assemble the sprocket, bearing, and the sprocket bracket together using 3/8” - 16 x 1” hex head bolts, 3/8” lock washers, 3/8” flat washers, and 3/8” - 16 hex nuts. 
     See FIG 10A and FIG 10B.
   • Position the assembly up against the drum wheel of the curtain assembly. Once the holes are aligned secure it using 3/8” - 16 x 1” hex head bolts, 3/8” lock washers, 3/8”  
     flat washers, and 3/8” - 16 hex nuts. See FIG 10C.

STEP 4STEP 4 INSTALL SPROCKET

SECTION 4 - DOOR INSTALLATION

FIG 10C

NOTE: The 3/8” 
- 16 hex nuts are 
installed on the 
other side of the 
drum wheel.

FIG 10D FIG 10E FIG 10F

FIG 10C



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 11291341-0007  REVF 09/09/2024

After installing the brackets and drive components, install the axle tensioner devices. 
   • Identify which is the tensioner and tensioner support. See FIG. 11A.
   • On the non-operator side of the curtain slide the tensioner device onto the axle. Ensure the arrow id is pointing towards the wall when the door is installed. See FIG. 11B.
   • On the operator side of the curtain slide the tensioner support device onto the axle. Ensure the arrow id is pointing towards the wall when the door is installed. 
     See FIG. 11B.

STEP 5STEP 5 INSTALL TENSIONERS

SECTION 4 - DOOR INSTALLATION

IMPORTANT: TENSION HOLDING ASSEMBLIES MUST BE ORIENTED CORRECTLY IN ORDER TO HOLD TENSION ON THE DOOR.

FIG 11B

FIG 11A



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 12291341-0007  REVF 09/09/2024

STEP 6STEP 6 LIFTING THE CURTAIN ASSEMBLY AND SECURING TENSIONERS

SECTION 4 - DOOR INSTALLATION

   • Lift the curtain assembly up to the support brackets.
   • Align tensioner devices with the brackets so that when door is lowered  
     down to the brackets, both devices will sit on top of the brackets.

   • Rotate curtain assembly so that bottom bar angle is at the bottom of the  
     curtain roll.
   • Now, remove the cardboard packaging from the door.
   • Ensure that the bottom bar angle is at the bottom of the curtain roll.
   • Secure the tension devices to the brackets using (2) 3/8” - 16 x 1” hex head  
     bolts, 3/8” lock washers, and 3/8” flat washers. Tighten bolts 1/2 turn past  
     snug.

CURTAIN ASSEMBLY IS HEAVY. ALLOWING CURTAIN 
ASSEMBLY TO FALL WHILE LIFTING, COULD RESULT IN 
SEVERE OR FATAL INJURY.

WARNING

FIG 12

TO AVOID SEVERE OR FATAL INJURY, NEVER WALK, 
STAND, OR WORK BELOW CURTAIN ASSEMBLY BEFORE IT 
IS SECURED TO SUPPORT BRACKETS.

WARNING

FIG 13

IMPORTANT: TENSIONERS MUST BE INSTALLED AS CLOSE TO HEADER AS 
POSSIBLE.

NOTE: Be sure that the door is able to revolve without scraping against door 
header or guides.

NOTE: The left hand end of the curtain assembly (when installed) will be the 
end with the spring.



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 13291341-0007  REVF 09/09/2024

STEP 7STEP 7 APPLY INITIAL TENSION TO THE DOOR SPRINGS

SECTION 4 - DOOR INSTALLATION
   • Start with the bottom bar angle at the bottom of the curtain roll and use a pipe wrench to rotate the axle approximately to the turns indicated in the spring turns chart,  
     shown below. 
   • The amount of tension required may vary slightly. Final adjustment, if necessary, will be made in Step #8.

   • Cut the tape that holds the door in a roll and gently pull the curtain down into the guides on both sides until the bottom bar is below the bottom bar stops.
   • Do not pry on the bottom bar stops to get bottom bar past, instead loosen fasteners until bottom bar angle easily clears stops.
   • If the door has a tendency to close, secure in position using clamps.
   • If the door has a tendency to rise, secure in position using a wood prop.
   • While the door is secured from moving, tighten the bottom bar stop fasteners on both guide assemblies.

ALWAYS STAND TO ONE SIDE OF WRENCH WHEN APPLYING TENSION, TO AVOID INJURY IF YOU LOSE CONTROL OF WRENCH.

WARNING
IMPORTANT: TIGHTEN THE SET SCREWS ON BOTH TENSIONERS BEFORE OPERATING THE DOOR.

SPRING TENSION CAN CAUSE CURTAIN ROLL TO ROTATE RAPIDLY. SECURELY HOLD CURTAIN ROLL FROM ROTATING WHILE 
APPLYING PRETENSION OR SERIOUS INJURY OR DEATH COULD RESULT.

WARNING

Spring Turns Chart

Max Height
Max Width

5' 0" (60”) 7' 0" (84”) 8' 11" 
(107”)

9' 11" 
(119”)

10' 11" 
(131”)

11' 11" 
(143”)

12' 11" 
(155”)

13' 11" 
(167”)

14' 11" 
(179”)

16' 0" 
(192”)

16' 0" 192” 2 1-7/8 1-3/4 1-7/8 1-7/8 1-3/4 1-3/4 1-7/8 1-5/8 1-3/4
12' 0" 144” 2 2 1-5/8 1-5/8 1-5/8 1-3/4 1-5/8 1-3/4 1-5/8 1-3/4
10' 0" 120” 2 2 2-1/8 1-3/4 1-5/8 1-3/4 1-5/8 1-3/4 1-7/8 1-3/4
7' 6" 90” 2 1-3/8 1-7/8 1-5/8 1-3/4 1-7/8 1-3/4 1-3/4 1-3/4 1-5/8



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 14291341-0007  REVF 09/09/2024

STEP 8STEP 8 LUBRICATING AND ADJUSTING THE GUIDES

SECTION 4 - DOOR INSTALLATION

FIG 14

   • Lubricate the insides of guides with weather resistant lubricating spray. Move the door  
     up and down to check for proper operation. Adjust the guides if necessary to allow for  
     proper clearance and operation.

   • Lower and raise the door to check the counterbalance.  If the door lowers easily and  
     raises hard, more spring tension is required. If the door lowers hard and raises easily, less  
     spring tension is required. First, open the door fully and fasten vise grips to guides  
     below bottom bar.  Then, loosen the set screws on both tensioners.
   • To remove tension, slightly pull down on the pipe wrench to unlock the tensioner.   
     Then, pull and hold the small rod on the top of the tensioner to completely disengage  
     the tensioner.  Slowly release tension by allowing the wrench to rotate.  Release the  
     tensioner rod to lock the axle in place while re-adjusting the pipe wrench.
   • Before operating the door, re-tighten the set screws on the tensioners.  Remember  
     to tighten all 3 square-headed locking bolts on the tensioner devices when finished to  
     maintain desired adjustment. Remove vise grips after tightening locking bolts.
   • Repeat the above procedure if further adjustments are required. Once all adjustments  
     have been made and the door is operating properly, recheck all fasteners and bolted  
     connections to ensure that they are in place and properly tightened. Verify that all set  
     screws in the components installed in step #4 have been tightened.

SECURELY HOLD DOOR CURTAIN UNTIL BOTTOM BAR STOP 
FASTENERS HAVE BEEN TIGHTENED. IF NOT SECURELY HELD, 
DOOR MAY RAISE OR DROP, POSSIBLY CAUSING INJURY OR 
DEATH.

WARNING

NEVER REMOVE BOTTOM BAR STOPS WHEN ADJUSTING TENSION, 
OTHERWISE, DOOR CAN SPIN UNCONTROLLABLY RESULTING IN 
SERIOUS INJURY OR DEATH.

WARNING

ONCE THE TENSIONER ROD IS DISENGAGED, HOLD WRENCH 
SECURELY. SPRINGS CAN CAUSE SERIOUS INJURY IF NOT 
CONTROLLED PROPERLY.

WARNING

NOTE: If door is difficult to move up or down due to spring imbalance, continue on to 
STEP #9 and return to STEP #7 once springs are properly adjusted.



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 15291341-0007  REVF 09/09/2024

STEP 9STEP 9 INSTALLING LIFT HANDLE, STOP CLIPS AND OPTIONAL SLIDE BOLT LOCKS

SECTION 4 - DOOR INSTALLATION
   • Install a lift handle and the bottom bar weight (if included) centered on the coil or inside  
     of the door using 1/4” - 20 x 1-1/2” carriage bolts and 1/4” - 20 flange hex nuts to assemble  
     the handle, bottom bar, and bottom bar weight together. See FIG 15.
For DS-50 & 100 ‘C’ Stop-Clip Attachment:
   • For doors with an aluminum bottom bar, a ‘C’ stop-clip will need to be installed. Only one  
     bolt is required to secure the stop-clip to the bottom bar when attaching a lift handle on  
     that side. Repeat assembly procedure for both sides. See FIG 16.
For ‘C’ Stop-Clip w/ Inside Slide Bolt Attachment:
   • Install slide bolt locks, if provided, as shown. The bottom bar will have (4) carriage bolts &  
     flange nuts pre-attached. See FIG 17.
   • Verify that the flat sides of the nuts are horizontal to the bottom bar. This ensures smooth
     operation of the slide bolt. Place the slide bolt lock so that the slot rides on the flange  
     nuts. Then, add the stop-clip and attach, using the flanged nuts. See FIG 17.
   • Repeat assembly procedure for both sides.

FIG 15

FIG 17FIG 16

FAILURE TO PROPERLY INSTALL STOP-CLIPS TO THE BOTTOM OF THE 
DOOR MAY RESULT IN SERIOUS INJURY OR DEATH.

WARNING



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 16291341-0007  REVF 09/09/2024

STEP 10STEP 10 INSTALLING OPTIONAL TOP DRAFT

SECTION 4 - DOOR INSTALLATION
   • Close the door and secure it in the down position.
   • Use a pencil to mark the door panel corrugation that is parallel with the bottom of the header/lintel from the outside of the opening. If this corrugation protrudes below  
     the header, mark the one just above.
   • Open the door until the marked corrugation is accessible.
   • Stretch the top draft stop across the door and attach it to the curtain on the marked corrugation with the self-drilling screws provided, locating the screws on 12” centers.
   • Trim the top draft stop to clear the guides if required. When the door is closed, the draft-stop should seal on the header. See FIG 19 and FIG 20.

FIG 19

FIG 20

NOTE: Top draft stop may not seal on the header if not installed on a corrugation, as shown.



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 17291341-0007  REVF 09/09/2024

STEP 11STEP 11 ALIGN THE SPROCKETS

SECTION 4 - DOOR INSTALLATION
   • Feed the hand chain through the pocket wheel assembly (installed in step #4), around the cast iron hand chain wheel, and connect the two end links.  
   • Align the chain hoist so that the 41B9 sprocket on the pocket wheel assembly is in line with the 41A40 sprocket bolted to the barrel. Next, tighten the hoist-locking bolts  
     to lock the pocket wheel assembly to the shaft to prevent it from shifting or rocking. See FIG 21 and FIG 22.

   • Next, connect the #41 roller chain between the pocket wheel assembly sprocket and the barrel sprocket. Now run the door up and down several times to ensure that the  
     roller chain does not come off. If it does, go back and check the alignment of the sprockets.

FIG 21FIG 22

HOIST LOCKING BOLTS MUST BE TIGHT TO ENSURE HOIST CANNOT SHIFT AND PERMIT ROLLER CHAIN TO COME OFF, THEREBY 
ALLOWING DOOR TO DROP POSSIBLY CAUSING SEVERE INJURY OR DEATH.

WARNING

STEP 12STEP 12 INSTALL THE CHAIN KEEPER

   • Now install the hand chain keeper to the wall approximately four feet above the finished floor with the hardware provided. Refer to the figure in step #7 of this manual for  
     an additional view. See FIG 21 and FIG 22.

KEEP LOOSE CLOTHING, FINGERS, HANDS, AND ARMS AWAY FROM ALL MOVING MECHANISMS AND PLACES WHERE CHAIN MEETS 
EITHER SPROCKET, OR SERIOUS INJURY OR DEATH COULD RESULT.

WARNING



©Copyright 2024 Wayne Dalton, a division of Overhead Door Corporation 18291341-0007  REVF 09/09/2024

 
1

3

R
o

ll
-U

p
 S

h
ee

t 
D

o
o

r 
 

 
L

IM
IT

E
D

 W
A

R
R

A
N

T
Y

 

 
 

  W
ay

n
e-

D
al

to
n
 

 P
.O

. 
B

o
x
 6

7
- 

M
t.

 H
o

p
e,

 O
h
io

 4
4

6
6

0
 

 

T
h
e 

M
an

u
fa

ct
u
re

r 
w

ar
ra

n
ts

 t
h
e 

R
O

L
L

-U
P

 S
H

E
E

T
 D

O
O

R
 a

n
d

 h
ar

d
w

ar
e 

fi
tt

in
g
s 

fo
r 

a 
p

er
io

d
 o

f 
O

N
E

 Y
E

A
R

 f
ro

m
 t

h
e 

ti
m

e 
o

f 

d
el

iv
er

y
 a

g
ai

n
st

 a
n
y
 d

ef
ec

ts
 i
n
 w

o
rk

m
an

sh
ip

 o
r 

m
at

er
ia

l.
 M

an
u
fa

ct
u
re

r 
sh

al
l,

 u
p

o
n
 n

o
ti

fi
ca

ti
o

n
, c

o
rr

ec
t s

u
ch

 n
o
n
co

n
fo

rm
it

y
 a

t i
ts

 o
p
ti

o
n
, b

y
 

re
p

ai
ri

n
g
 o

r 
re

p
la

ci
n
g
 a

n
y
 d

ef
ec

ti
v
e 

p
ar

t 
o

r 
p

ar
ts

. 
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

 

N
O

 
E

M
P

L
O

Y
E

E
, 

D
IS

T
R

IB
U

T
O

R
, 

O
R

 
R

E
P

R
E

S
E

N
T

A
T

IV
E

 
IS

 
A

U
T

H
O

R
IZ

E
D

 
T

O
 

C
H

A
N

G
E

 
T

H
E

 
F

O
R

E
G

O
IN

G
 

W
A

R
R

A
N

T
IE

S
 I

N
 A

N
Y

 W
A

Y
 O

R
 G

R
A

N
T

 A
N

Y
 O

T
H

E
R

 W
A

R
R

A
N

T
Y

 O
N

 B
E

H
A

L
F

 O
F

 M
A

N
U

F
A

C
T

U
R

E
R

. 
 

 

T
h
e 

M
an

u
fa

ct
u
re

r 
sh

al
l 
n
o

t 
b

e 
re

sp
o

n
si

b
le

 f
o

r 
an

y
 d

am
ag

e 
re

su
lt

in
g
 t
o

 o
r 

ca
u
se

d
 b

y
 it

s 
p
ro

d
u
ct

s 
b
y
 r

ea
so

n
 o

f 
in

st
al

la
ti

o
n
, i

m
p
ro

p
er

 

st
o

ra
g
e,

 u
n
au

th
o

ri
ze

d
 s

er
v
ic

e,
 a

lt
er

at
io

n
 o

f 
p

ro
d

u
ct

s,
 n

eg
le

ct
 o

r 
ab

u
se

, 
o

r 
at

te
m

p
t 
to

 u
se

 t
h
e 

p
ro

d
u
ct

s 
fo

r 
o

th
er

 t
h
an

 t
h
e 

cu
st

o
m

ar
y
 u

sa
g
e 

o
r 

fo
r 

th
ei

r 
in

te
n
d

ed
 p

u
rp

o
se

s.
 T

h
e 

R
O

L
L

-U
P

 S
H

E
E

T
 D

O
O

R
 w

ar
ra

n
ty

 b
ec

o
m

es
 n

u
ll

 a
n
d
 v

o
id

 if
 o

th
er

 th
an

 M
an

u
fa

ct
u
re

r’
s 

sp
ec

if
ie

d
 h

o
le

s 
ar

e 

d
ri

ll
ed

. 
T

h
e 

ab
o

v
e 

w
ar

ra
n
ty

 d
o

es
 n

o
t 

co
v
er

 w
ea

r 
o

r 
an

y
 d

am
ag

e 
b

ey
o

n
d

 M
an

u
fa

ct
u
re

r’
s 

co
n
tr

o
l 

o
r 

re
p

la
ce

m
en

t 
la

b
o

r.
 

 

T
H

IS
 W

A
R

R
A

N
T

Y
 C

O
V

E
R

S
 A

 C
O

M
M

E
R

C
IA

L
 P

R
O

D
U

C
T

, 
T

H
E

 F
O

R
E

G
O

IN
G

 W
A

R
R

A
N

T
IE

S
 A

R
E

 I
N

 L
IE

U
 O

F
 A

L
L

 

O
T

H
E

R
 
W

A
R

R
A

N
T

IE
S

 
A

N
D

 
N

O
 
R

E
P

R
E

S
E

N
T

A
T

IO
N

S
, 

G
U

A
R

A
N

T
E

E
S

, 
O

R
 
W

A
R

R
A

N
T

IE
S

, 
E

X
P

R
E

S
S

E
D

 
O

R
 
IM

P
L

IE
D

, 

(I
N

C
L

U
D

IN
G

, 
B

U
T

 
N

O
T

 
L

IM
IT

E
D

 
T

O
, 

T
H

E
 

W
A

R
R

A
N

T
Y

 
O

F
 

M
E

R
C

H
A

N
T

A
B

IL
IT

Y
 

O
R

 
F

IT
N

E
S

S
 
F

O
R

 
P

A
R

T
IC

U
L

A
R

 

P
U

R
P

O
S

E
),

 A
R

E
 M

A
D

E
 B

Y
 M

A
N

U
F

A
C

T
U

R
E

R
 I

N
 C

O
N

N
E

C
T

IO
N

 W
IT

H
 M

A
N

U
F

A
C

T
U

R
E

 O
R

 S
A

L
E

 O
F

 I
T

S
 P

R
O

D
U

C
T

S
. 

 

C
la

im
s 

fo
r 

d
ef

ec
ts

 i
n
 m

at
er

ia
l 

an
d

 w
o

rk
m

an
sh

ip
 c

o
v
er

ed
 b

y
 t

h
is

 w
ar

ra
n
ty

 s
h
al

l 
b

e 
m

ad
e 

in
 w

ri
ti

n
g
 t

o
 t

h
e 

d
ea

le
r 

fr
o

m
 w

h
o

m
 t

h
e 

p
ro

d
u
ct

 w
as

 p
u
rc

h
as

ed
 w

it
h
in

 t
h
e 

w
ar

ra
n
ty

 p
er

io
d

. M
an

u
fa

ct
u
re

r 
m

ay
 e

it
h
er

 s
en

d
 a

 s
er

v
ic

e 
re

p
re

se
n
ta

ti
v
e 

o
r 

h
av

e 
th

e 
p
ro

d
u
ct

 r
et

u
rn

ed
 to

 th
e 

M
an

u
fa

ct
u
re

r 
at

 B
u
y
er

’s
 e

x
p

en
se

 f
o

r 
in

sp
ec

ti
o

n
. I

f 
ju

d
g
ed

 b
y
 M

an
u
fa

ct
u
re

r 
to

 b
e 

d
ef

ec
ti

v
e 

in
 m

at
er

ia
l 
o

r 
w

o
rk

m
an

sh
ip

, t
h
e 

p
ro

d
u
ct

 w
il

l b
e 

re
p

la
ce

d
 o

r 
re

p
ai

re
d

 a
t 

th
e 

o
p

ti
o

n
 o

f 
M

an
u
fa

ct
u
re

r,
 f

re
e 

fr
o

m
 a

ll
 c

h
ar

g
es

 e
x
ce

p
t 

au
th

o
ri

ze
d

 t
ra

n
sp

o
rt

at
io

n
 a

n
d

 r
ep

la
ce

m
en

t 
la

b
o

r.
 

 

T
H

E
 R

E
M

E
D

IE
S

 O
F

 B
U

Y
E

R
 S

E
T

 F
O

R
T

H
 H

E
R

E
IN

 A
R

E
 E

X
C

L
U

S
IV

E
 A

N
D

 A
R

E
 I

N
 L

IE
U

 O
F

 A
L

L
 O

T
H

E
R

 R
E

M
E

D
IE

S
. 

T
H

E
 L

IA
B

IL
IT

Y
 O

F
 M

A
N

U
F

A
C

T
U

R
E

R
, 

W
H

E
T

H
E

R
 I

N
 C

O
N

T
R

A
C

T
, 

T
O

R
T

, 
U

N
D

E
R

 A
N

Y
 W

A
R

R
A

N
T

Y
, 

O
R

 O
T

H
E

R
W

IS
E

, 

S
H

A
L

L
 N

O
T

 E
X

T
E

N
D

 B
E

Y
O

N
D

 I
T

S
 O

B
L

IG
A

T
IO

N
 T

O
 R

E
P

A
IR

 O
R

 R
E

P
L

A
C

E
, 

A
T

 I
T

S
 O

P
T

IO
N

, 
A

N
Y

 P
R

O
D

U
C

T
 O

R
 P

A
R

T
 

F
O

U
N

D
 B

Y
 M

A
N

U
F

A
C

T
U

R
E

R
 T

O
 B

E
 D

E
F

E
C

T
IV

E
 I

N
 M

A
T

E
R

IA
L

 O
R

 W
O

R
K

M
A

N
S

H
IP

. 
M

A
N

U
F

A
C

T
U

R
E

R
 S

H
A

L
L

 N
O

T
 B

E
 

L
IA

B
L

E
 F

O
R

 C
O

S
T

 O
F

 R
E

M
O

V
A

L
 O

R
 I

N
S

T
A

L
L

A
T

IO
N

 O
R

 S
H

A
L

L
 N

O
T

 B
E

 R
E

S
P

O
N

S
IB

L
E

 F
O

R
 A

N
Y

 D
IR

E
C

T
, 

IN
D

IR
E

C
T

, 

S
P

E
C

IA
L

, 
O

R
 C

O
N

S
E

Q
U

E
N

T
IA

L
 D

A
M

A
G

E
S

 O
F

 A
N

Y
 N

A
T

U
R

E
. 

 
 

T
h
is

 w
ar

ra
n
ty

 g
iv

es
 y

o
u
 s

p
ec

if
ic

 l
eg

al
 r

ig
h
ts

 w
h
ic

h
 m

ay
 v

ar
y
 f

ro
m

 s
ta

te
 t
o

 s
ta

te
. H

o
w

ev
er

, s
o

m
e 

st
at

es
 d

o
 n

o
t 
al

lo
w

 l
im

it
at

io
n
s 

o
n
 

h
o

w
 l

o
n
g
 a

n
 i

m
p

li
ed

 w
ar

ra
n
ty

 l
as

ts
 o

r 
th

e 
ex

cl
u
si

o
n
 o

r 
li

m
it

at
io

n
 o

f 
in

ci
d

en
ta

l 
o

r 
co

n
se

q
u
en

ti
al

 d
am

ag
es

, 
so

 t
h
e 

ab
o

v
e 

li
m

it
at

io
n
s 

o
r 

ex
cl

u
si

o
n
s 

m
ay

 n
o

t 
ap

p
ly

 t
o

 y
o

u
. 

         

W
a

y
n

e-
D

a
lt

o
n

 

D
o

o
r 

&
 S

y
st

em
s 

D
iv

is
io

n
 

2
5

8
9

 C
o

u
n

ty
 R

o
a

d
 1

6
8

 

D
u

n
d

ee
, 
O

H
 4

4
6

2
4

 

1
-8

0
0

-7
9

5
-5

0
9

5
 


